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2N

AHrSAsH

Hu: AU OF DEA S48 YBs 54
S AENEE RFS2E A (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OsttE EZ2HIZH e-2E= S XA 40,000
S SENUE TR SEUASH = 50,000 50,000 0
201 L2l 50,000 50,000 0
01 At 22l 50,000 50,000 0
O+ sS4&2 TAAM EAUS 50,000
A2 SUERSANE X 250,000 250,000 0
403 MHXISHE X201 H 250,000 250,000 0
01 XM A=2EER 250,000 250,000 0
OL72 s REAME &X 250,000
N2ssSHH 2EAY 316,800 370,320 A 53,520
J| 264,000
< 52,800
403 XXM S X201 316,800 370,320 A 53,520
J| 264,000
< 52,800
01 AXISM U422 = 316,800 370,320 A 53,520
OMRedHA 2EAZ 316,800
| 264,000
< 52,800
sl FHoE XA At 2,820,000 2,611,400 208,600
308 XXM SO0IA 2,820,000 2,611,400 208,600
01 AXNSHHBLEES 2,820,000 2,611,400 208,600
Osgel 3getd X& ALY 2,820,000
GAPRI Z =0t ot& A Z Al KI& 181,840 201,500 A 19,660
= 161,106
= 20,734
308 AXIEH S0l 181,840 201,500 A 19,660
= 161,106
< 20,734
01 IXNHHEBANEES 181,840 201,500 219,660
OCGAPRI S =D ot & 2 AtHl XTI & 181,840
= 161,106
< 20,734
AldE WE g4dst X2 100,000 90,000 10,000
= 50,000
< 50,000
307 gl2tol & 100,000 90,000 10,000
= 50,000
< 50,000
02 It M AHE L 100,000 90,000 10,000
Oalde ne 2483 XA 100,000
= 50,000
< 50,000




2N HllsSA

|
Sm0 AHT BE

HE ISE sitE 238 24
S AENEE RFS2E A (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SASAO0LEAH Ot3HAIO| 30,000 30,000 0
= 15,000
< 15,000
307 gl2tol & 30,000 30,000 0
= 15,000
< 15,000
02 It HAHE L 30,000 30,000 0
O=s4l3 A0tEAHl Ot3talol 30,000
= 15,000
< 15,000
ANEoel s ¥ E23 N2 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
02 QIZtE M AMHEE 10,000 10,000 0
oXdgaNe us & Eg2 XN 10,000
SZEE 10| SHHA XA 22,500 22,500 0
308 XXIEHHSOIA 22,500 22,500 0
01 AXHHILEES 22,500 22,500 0
OZZEE 40| SHHHl XA 22,500
S&E MR SHE 28 2,925,000 0 2,925,000
J| 1,950,000
< 975,000
403 A X EHHS 20l A 2,925,000 0 2,925,000
J| 1,950,000
< 975,000
01 X EHMA=E L 2,925,000 0 2,925,000
OsttE MNRsSHH A8 2,925,000
J| 1,950,000
< 975,000
FHEEE AHIEAUS I8 MAX AHX EEXR 30,000 30,000 0
308 XXM SO0l A 30,000 30,000 0
01 HIXNHHBNEES 30,000 30,000 0
OZZFE AHIEAE 8 Mo AHT &
DA 30,000
s&t= 0 E X3 ALY 154,800 0 154,800
J| 150,000
< 4,800
308 XX EHSOIA 154,800 0 154,800
J| 150,000
< 4,800
01 HIXNHHNBMNEES 154,800 0 154,800
OsdsS DHAE XEAMY 154,800
J| 150,000
< 4,800




AN HUSSASL
M AHIX 2HE DSE setE 2358

ot A =4
S AENEE RFS2E A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SSEoHEU X3 A 535,610 0 535,610
= 467,000
< 68,610
308 AHAIEHHSOIA 535,610 0 535,610
= 467,000
< 68,610
01 HIXNHHNBHELS 535,610 0 535,610
SSEGHEU XA 535,610
= 467,000
< 68,610
FUT sUHS2+22(GAP) X EE Y 705,250 0 705,250
= 542,500
< 162,750
403 MtXISHH S0l & 705,250 0 705,250
= 542,500
< 162,750
01 AXSHMA=2E X 705,250 0 705,250
OF&X sdtE2+22l(GAP) HELEA 705,250
= 542,500
< 162,750
NAH et Z2Hole == X2I| FF 2,566,649 2,372,129 194,520
= 83,000
Xl 1,000,000
< 1,483,649
sAE =E2FH XA 280,000 280,000 0
308 XX EHH SOl A 280,000 280,000 0
01 AXHHILEES 280,000 280,000 0
OsAaE =2=FH XN¥ 280,000
sdE =221 4 222,000 340,200 A 118,200
403 A X EHHSH=0IA 222,000 340,200 A 118,200
01 X EHMA=E L 222,000 340,200 A 118,200
Os=xdtE =51 54 222,000
F=ESNE IS ANLZE s 75,000 75,000 0
403 XM S =0l & 75,000 75,000 0
01 HXSHMA2E X 75,000 75,000 0
O==zt2 I3 ANEEU 75,000
sAZS ZENM XA 73,499 73,499 0
308 XXM SOIA 73,499 73,499 0
01 AXHHILEES 73,499 73,499 0
Ox&sAE TN M& X 73,499
HEIMA HSAS Mgl 910,000 1,235,000 A 325,000
Xl 700,000




AN AUSSASH
M AHA 2E DEE sdtE HES 84
S MAA BHols === I FH (&
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 210,000
403 MtXISHHSA=0l& 910,000 1,235,000 A 325,000
X 700,000
< 210,000
01 XM A=2E X 910,000 1,235,000 A 325,000
OZSIWA INSAS MY=EYH 910,000
Xl 700,000
< 210,000
RIllssE XE5E =58 4SFSHXE 41,250 41,250 0
308 XXIELHSOIA 41,250 41,250 0
01 AXHHBYEES 41,250 41,250 0
ORIIsAHE XEE =543 SdNE 41,250
SEFU AT AHEIEXRA 14,000 14,000 0
303 &3 14,000 14,000 0
01 Z2&= 14,000 14,000 0
O=EFd A2 AQHMEIEXR 14,000
sAE =5 XA S& X 31,500 31,500 0
308 AHAIEHHSOIA 31,500 0 31,500
10 B2 S0t B & XA 31,500 0 31,500
Os4E =& HAXMS SEXNAY 31,500
SAS HEZ =532 2 ddes X 70,000 35,000 35,000
308 XXM SO0l A 70,000 0 70,000
10 BSOS BAHHH A 70,000 70,000
OsAE HEZ $582 ¥ HUUS X
70,000, 000 70,000
Nees dSF 24dst N 37,500 0 37,500
308 XX EHH SOl 37,500 0 37,500
01 HXNHHBNEES 37,500 0 37,500
OXgex M5 243 N 37,500
SAE HeOHAHE X 600,000 0 600,000
Xl 300,000
< 300,000
403 MtXISHH S A0l & 600,000 0 600,000
Xl 300,000
< 300,000
02 SO 2SOHHSHAHE X HE AL B 600,000 0 600,000
O=4E H2A0tAHE X 600,000
Xl 300,000
< 300,000
SAS HADANE AR 0 14,000 0 14,000
202 (4l 14,000 0 14,000
— 5 —




2N

AHrSAsH

BE: AHK OE DB SN2 YEH 54
Chel: MAS 2Hole ==Y X2J| FF (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
03 =220l 14,000 0 14,000
OsAZ l2A0tAHE AL R0 14,000
A oHAOHAHE SN &322 60,000 0 60,000
301 L2 A F 60,000 0 60,000
06 212tol= 2l 04l 60,000 0 60,000
OsAlE o200 E I &3228 60,000
2 aT=74UH sA8 ==013E X& 30,000 0 30,000
308 XX EHH SOl A 30,000 0 30,000
10 BN 2SUHUS3AEHH A 30,000 0 30,000
O&LUR aT=FUH =45 ==0tAE N&E 30,000
NXM 2=0HHE XA 107,900 0 107,900
= 83,000
< 24,900
308 XXM SO0 A 107,900 0 107,900
= 83,000
< 24,900
01 HIXNHMBMNEELS 107,900 0 107,900
OXXH Z2s0HAE X 107,900
= 83,000
< 24,900
JIgE NAESA=ZS S8 84 13,397,670 10,809, 055 2,588,615
= 1,008,900
| 7,626,600
< 4,762,170
= DZE MAAL SEUSHAA 1,228,150 1,874,850 A 646,700
| 847,000
< 381,150
403 MtXISHH S0l & 1,228,150 1,874,850 A 646,700
| 847,000
< 381,150
01 HAXSHMA=2EE 1,228,150 1,874,850 A 646,700
Ot NZE MUzt ALY 1,228,150
J| 847,000
< 381,150
DAMBHAMCR JIBFELHALS 1,708,000 2,248,515 A 540,515
| 1,588,000
< 120,000
403 XIS E X201 H 1,708,000 2,248,515 A 540,515
| 1,588,000
< 120,000
01 X HHX2E = 1,708,000 2,248,515 A 540,515
OLANMZMACK JIBFEHALS 1,708,000
| 1,588,000
= 120,000




2N

Hu: AU OE DEA S48 Y88 54
@ JIYE NESsHs 58 84 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
I MEERXH XA 90,000 90,000 0
308 XXX S0 A 90,000 90,000 0
01 AXSHBAELS 90,000 90,000 0
Otal JMEE RAH XA 90,000
D= S E2Z MAEH XA 500,000 500,000 0
403 XXM S K201 500,000 500,000 0
01 XXM A2E = 500,000 500,000 0
Ot LHAZ2 MAEH X 500,000
ANEZ0 IUXOIE(EZALE) S35 AtY 753,900 597,000 156,900
= 753,900
403 XIS E X201 & 753,900 597,000 156,900
= 753,900
01 AXSHMA=2EE 753,900 597,000 156,900
OAZHN HXIOIE SSSHELAE) 753,900
= 753,900
ANEZ0 UKo (SHES) S5 AtY 75,000 0 75,000
= 75,000
403 MHXISHHE X201 H 75,000 0 75,000
= 75,000
01 XXM A2 £ 75,000 0 75,000
OANEZE0 HUXOE(SHEX) 83+ A 75,000
= 75,000
ANERJN SEMS 2,628,320 2,419,750 208,570
| 1,961,600
= 666,720
403 XAXISH M S X201 A 2,628,320 2,419,750 208,570
| 1,961,600
< 666,720
01 AXSHMA2E = 2,628,320 2,419,750 208,570
Oger AR2EHR 2,148,320
| 1,481,600
= 666,720
OHIJtE Al & 480,000
| 480,000
HA MAAIE SUSHALS 174,000 145,000 29,000
| 120,000
= 54,000
403 XXM S X201 174,000 145,000 29,000
J| 120,000
< 54,000
01 XXM A=2E = 174,000 145,000 29,000
OHA MarAld SO 3 174,000
| 120,000




2N

M AHA 2E DEE sdtE HES 84
@ JIYE NESsHs 58 84 (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| < 54,000
NEES A= |4 788,000 400,000 388,000
403 UHXSHHSA=0l& 788,000 400,000 388,000
XEH A e 2 X 788,000 400,000 388,000
OXNgEsas g4 400,000
OO0tZLI0F JIESAIE X& A 283,000
O=2d R2EF 43 MY 105,000
SEE FUMUMAE B 400,000 400,000 0
403 XA SA=0l& 400,000 400,000 0
01 X SHMA2E X 400,000 400,000 0
OEE JULANLE B3 400,000
oly Xi1g sS3M 222 91,500 91,500 0
308 XXM SOl A 91,500 91,500 0
01 IXNHHMBMNBEES 91,500 91,500 0
ocly Xy SdHM 33 91,500
DEE WX LAY 420,000 420,000 0
403 A X EHHS =0l A 420,000 420,000 0
01 X SHHX2E= 420,000 420,000 0
OJI=ds g N8 ==Xl ZdAY 420,000
oA SEEL BIAIEE XI& 150,000 150,000 0
308 XM SOIH 150,000 150,000 0
01 HXNHHBHEELS 150,000 150,000 0
Oua SHes BIANES NE 150,000
SR I BH R = ALY 2,185,000 885,000 1,300,000
J| 1,750,000
= 435,000
403 UtXISHH S =0l & 2,185,000 885,000 1,300,000
J| 1,750,000
< 435,000
01 XM A2E X 2,185,000 885,000 1,300,000
OHAEZ 885,000
J| 750,000
< 135,000
OAxEAE= 1,300,000
J| 1,000,000
< 300,000
Ol ah MALAIA SO St 232,000 174,000 58,000
J| 160,000
< 72,000
403 XA S =0l & 232,000 174,000 58,000
J| 160,000




2N

M AHA 2E DEE sdtE HES 84
Sl DY NYSHES SF S4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 72,000
01 XM A2E X 232,000 174,000 58,000
OQlal MabAld St 232,000
J| 160,000
< 72,000
WAINSALE s 1,600,000 0 1,600,000
J| 1,200,000
= 400,000
403 XIS E X201 E 1,600,000 0 1,600,000
J| 1,200,000
< 400,000
01 X SHHA2E= 1,600,000 0 1,600,000
OWAINSAIE S 1,600,000
J| 1,200,000
< 400,000
2HH=E sALU N3 63,000 0 63,000
403 MHXSHHSA=0l& 63,000 0 63,000
01 X EHMA=E L 63,000 0 63,000
OEMH=E sHYU X 63,000
A SsHE AT AE MY 120,000 0 120,000
403 MtXISHH S =0l & 120,000 0 120,000
01 HIXSHMA2E X 120,000 0 120,000
OUSH S2SHE NgHE A AtY 120,000
AEE0 HHX0IS(XNEL) SE3 ALY 190,800 0 190,800
= 180,000
< 10,800
403 XIS E X201 & 190,800 0 190,800
= 180,000
< 10,800
01 XXM A2E = 190,800 0 190,800
OANE&0 oidXo&(XNEL)s83 ALY 190,800
= 180,000
< 10,800
d= 25 T3 MRAEBHE 54 4,345,320 192,500 4,152,820
= 3,447,000
< 898,320
NEZY BYWE H (s .88 .24) 67,500 22,500 45,000
= 45,000
< 22,500
308 MXIEHSOIH 67,500 22,500 45,000
= 45,000
< 22,500
01 HXNHHBHELS 67,500 22,500 45,000
OnNEH H B 4 (Us 88 A48 67,500




SN RUNRSABY

B AHT BE DBH sS4 B 84
el d= 285 3 IIREME 84 (Sl & &)
SA - BB B () - MM - BES Ol &t o San HmEET
= 45,000
& 22,500
RPC HHOHZ Xt= Ol X2 & 90,000 80,000 10,000
308 AHAIEHHSOIA 90,000 80,000 10,000
01 XN EES 90,000 80,000 10,000
ORPCH OHE A= OIHEH 90,000
RPC A XXM EAIE S& 1,105,580 0 1,105,580
= 1,043,000
& 62,580
403 AHXEHHS =0l A 1,105,580 0 1,105,580
= 1,043,000
S 62,580
01 AXISHHA=2E = 1,105,580 0 1,105,580
ORPC HH X . MEBANE S& 1,105,580
= 1,043,000
< 62,580
U ASHEAE oA X 33,000 33,000 0
308 MtXIEHMSOIH 33,000 33,000 0
01 X HHILEES 33,000 33,000 0
O=UW A3 dAls &It XA 33,000
FRg=2e 58,000 57,000 1,000
= 58,000
201 L Er2 A | 8,578 8,578 0
= 8,578
01 At22t2l bl 8,578 8,578 0
Ogmze 29l 7,000
= 7,000
o2& 2e =gl 1,578
= 1,578
202 o4 Hl 16,000 16,000 0
= 16,000
01 = LH 4 b 16,000 16,000 0
ogzzel geFa 16,000
= 16,000
308 XX EHHSOIA 33,422 32,422 1,000
= 33,422
01 AXSHHBAEES 33,422 32,422 1,000
oFegRael NA(AR) 33,422
= 33,422
NSEH BHE AL U3 2,822,240 0 2,822,240
= 2,171,000
= 651,240
403 A X EHS =0l A 2,822,240 0 2,822,240




RN RSASH
D AHX BE DEE sitE BEE |4
MR o5 88 LYEdE |4 Q)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,171,000
< 651,240
01 HIXSHMA2E X 2,822,240 0 2,822,240
OLNEZEZH BHE Iz Ad 88U 2,822,240
= 2,171,000
< 651,240
AEALAT & BB AY =4 169,000 0 169, 000
= 130,000
< 39,000
403 XIS E X201 & 169,000 0 169,000
= 130,000
< 39,000
01 AXSHHMA2E = 169,000 0 169,000
OAlZAT 2 B34 Y 4 169,000
= 130,000
= 39,000
HE2IAZH (AMRSAS) 49,986 47,209 2,777
Jl=&l 49,986 47,209 2,777
Jl2234 49,986 47,209 2,777
201 2et24d] 15,966 15,079 887
01 At 22l 15,966 15,079 887
OJle=+=&Hl 6,516
OJl2= &l 9,450
202 odl 34,020 32,130 1,890
01 = LH 4 1l 34,020 32,130 1,890
OJl=0 34,020




